Run 5071 quartetwise, posHQ: Beam DH
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Run 5071 quartetwise, asym0Osub: Beam ON
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Run 5071 quartetwise, negHO: Beam DIN

Positive Hel (ON): 19.804452 +/- 0.019986
Negative Hel (ON): 20.681093 +/- 0.020539
Positive Hel (OFF): 6.354293 +/- 0.005404
Negative Hel (OFF): 6.352025 +/- 0.005489
-------- Sums and Diffs
On Diff: -0.876641 +/- 0.017493
Off Diff: 0.002268 +/- 0.006131
On Sum: 40.485545 +/- 0.036558
Off Sum: 12.706319 +/- 0.009005
-------- Asymmetries
On Asym: -31.557426 +/- -0.631165 (ppt)
Off Asym: 0.081649 +/- 0.220701 (ppt)
-------- Bkgd Subtraction
BkSub Sum: 27.779226 +/- 0.037651

BkSub Asym: -31.639075 +/- 0.668639 (ppt)
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-------- Histogram Vars



asym (AccO) / ppt

Run 5071 quartetwise, posHO vs time Run 5071 quartetwise, negHO vs time
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